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1 The chart below shows how some living things can be grouped.

Living things
P . Q .
tomato | " moss
hibiscus bird’s nest fem

Which one of the following correctly shows the characteristics of P and

Q?
P a

1) Grow on land Grow in water

@ Make their own food "Do not make their own food

3) Reproduce from seeds Reproduce from spores

(@) | Have fruit with many seeds Have fruit with no seeds
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2' Abel classified the four animals in the flow chart as shown below.

geese, bat, salamander, cricket

bat

Question B

Yes

No _ salamander

What were the two questions, Aand B?

o

(2)
3)

@

Question B

T QuestionA
Do they have wings? Do they lay 69957
Do they lay eggs? B Do they have wings?
Do they have wings? Do they have a hard outer oovenng'?
Do ﬂ:ley lay egg_s? : Do they have a hard outer covering?




3 The diagram below shows the different stages of the.growth of a seed
into a seedling.

At which stage(s) can the seedling make its own food?

(1) Eonly

(2) Fonly

(3) EandFonly
(4) D, EandF only

4 The table below shows the survival rate of organism Y in four habitats, P, Q, R

and S.
Type of | Number of organism Number of Number of
habitat | Y hatched from eggs | developing young | adults formed
P 39 37 36
Q 39 37 25
R 37 3 . 0
S| 38 T 3 | 30

Which habitat is the most suiitable for organism Y to supvive in?

() P
2 Q . o Lo
@ " R -
4 S
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5 The graph below shows the length (number of days) of the stages in the
life cycle of four insects, A, B, C, and D

insects
D
_________ Key
c RS Moo
Ntarva
B I ) - @Pﬂpﬂ
---------- .Adult
A DN\ |
6 é 1'0 1'5' ;0 Déys‘

This insect is the most active in the larval stagerand will feed on the
leaves of crop X. :

s

Which one of the insects above will cause the greatest damage to the
farmer?

(1) InsectA

(2) InsectB

(3) InsectC

(4) InsectD



6 Organism Z is found in habitat X The graph below shows the
temperature of habitat X in a particular year and the percentage of males
and females hatched from the eggs of organism Z.

2
»
>

i

Percentage of
organism Z hatched
3
]
O
§

&

20 A

0 - -
10 15 20 25 30 35 Temperature (°C)

Which one of the following relationships between the percentage of
females or males of organism Z hatched and the temperature is correct?

(1) As the temperature increases, the percentage of males hatched
increases.

(2) As the temperature decreases, the percentage of males hatched
decreases.

(3) As the temperature increases, the percentage of females hatched
v incleases

(4) Asﬂwetemperaml'edecream meperoentageoffemal%hatdted
mcreas&c L
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7  The diagram below shows the digestive system of a human.

Which one of the following correctly matches the parts, E, F and G, of the
human digestive system to their functions?

(1)
()
(3)
(4)

Breaking food into Release of digestive Absorption of most
smaller pieces juices amount of digested food
E E,F.G : G ‘
F F.G E
E,F F,G G
E,F E,F,G F.G

8 ° Which of the following statements about cell is/are false?

A
B
C

)
@
©)

@

Cells are the basic unit of all living things.
As an organism grows, the number of cells increases.
The size of a cell depends on the size of the organism.

A only
C only

~ Aand B only

B and C only
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9  Jin Xian carried out an experiment using four similar pots of small plants.
He watered them with different amounts of water daily for two weeks.

Set-up

Amount of water (ml)

A
B
c
D

He then measured the heights of the plants on the 5% 10™ and 14® day.
The results are shown in the table below. The plants are considered to
be growing well if they have grown by at least 10 cm after two weeks.

Day Average height of plants (cm)
Set-up A Set-up B Set-up C Set-up D
5 5 5 5
5 ) 12 12 11
10 12 19 18 19
14 14 22 25 27

What is the least amount of water to be given daily to the plants to
ensure that they will grow well?

)]
(2)
3
@

25 mi
60 ml
80 mi
150 mi

CHS/Sc/P6/Prelim2/2014




10 " Nora collected four soil samples, K, L, M and N. She then poured water
through the four soil samples, one at a time, using the set-up as shown

retort stand

The average time taken for her to collect 20 mi of water was recorded in

the table below.
Soil sample | Average time taken to collect 20 mi of water (s)
K 14
L 35
M 29
N 41

Which one of the following cormrectly shows the size of the soil particles
in soil samples, K, L, M and N, in decreasing order?

(1 KMLN
@2 KLMN
(3 N.LMK
@ N.MLK
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11 Eugene introduced a population of 100 organism M into his garden. The
graph below shows how the population of organism M changed over a
period of 6 weeks.

100
=
£ 80
R
f o
S 60
o
© 40
@
£
£ 20
Zz
0 T T T T T 1
1 2 3 4 5 6
Time (weeks)

Which of the following statements is/are true about the population of
organism M?

A The population of organism M decreases most in the second
week.

B The population of organism M remains constant for two weeks
after the fourth week.

C The population of organism M decreases more in the third week
than in the fourth week.

D The poputation of organism M decreases more in the first three
weeks than in the last three weeks.

(1) Aonly

2) B and C only »
(3) A BandD only
4) B, CandD only

CHSISAPRMPralim2/2014



12 The table below shows the characteristics of four different habitats, A, B,

C and D, in an environment.

Charaderigties of Habitat
the habitat A B C D
Temperature Fluctuates | Fluctuates | Liltteorno| Some
widely widely change | changes
Light Intensity High Low High Low
Presence of water Dry Alittedamp| Damp Very wet

Xue Ting found an organism in one of the habitats. She observed the
following characteristics of the organism:

. Has an ability to store water
. Needs light for survival
. Has a waxy outer surface

in which habitat did she most likely find the organism?

1 A
2 B
@ C
4 D
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13  Ariver runs through a forest as shown in the diagram below.

forests

g

direction in which
the river flows

Water samples were collected at positions, E,F and G, in the river and
analysed for the amount of bacteria found in the water.

Which one of the following shows the correct order of the samples of
water with increasing amount of bacteria in them?

Increasing amount of bacteria in the water samples
(1) G F E
(2) E F G
&Y E G F
4) F E G

on
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14 A plant with leaves of green and white areas was left in a dark cupboard
for 48 hours. Diagram 1 shows one of its leaves.

white area

green area

Diagram 1

Next, the top and underside of the leaf was each partially covered by
a strip of black paper, as shown in Diagram 2 below.

Diagram 2.

The plant was then left in the sun. After a day, the leaf was plucked off
and the strips of black paper were removed from both sides of the leaf.

The leaf was then tested for the presence of food. In which of the areas =

labelled A B C and D is food mostly found‘7

i

@

)
(4)

‘Aonly

B only
A and B only
C and D only

Fal BTy o PNV ¥ o BN RSN, Y o To P ]
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15 A potted plant was given sufficient amount of water and placed in a
black air-tight plastic box for a day in a garden as shown below.

black
air-tight
plastic box

potted plant

Which one of the following graphs shows the changes in the amount of
oxygen and carbon dioxide present in the box during the day? -

1) (2)
* g oxygen
o ©
3 oxygen o
o 6
sy .- carbon € carbon
:é /’,/—' dioxide 3 __-- dioxide
L~ £ —_,»”
e s
0700 1200 1800 M€ 0700 1200 1800 'M€
(3) (4)
—A ~A
s ' 5 |
» \ e oxygen
> >
© "‘~\\ oxygen S /mrbon
Y= S = T -~ dioxide
é ~~ carbon 3 L----"" : ‘
dioxid el g
< P 1'§x_e < S B B
0700 1200 1800 0700 1200 1800 '~

LT — . —
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16 The flow chart below shows how four different objects, P, Q, Rand S, are

Is it able to bend
without breaking?

classified.
Start
4
Is it able to withstand | Y©S
scratches?
No
P Yes
Is it waterproof?
J/ No
S

1»«, .

R Q

Yes

Based on the flow chart above, which of the objects, P, Q, R or S, best
represents a towel?

)
@)
3)
@

w o O

~IQ/CAIDR/Dralim? N4 A
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17  Thomas carried out an experiment to test the strength of four materials, A, B,
C and D, used to make fishing lines. He added weights of 5 kg at a time to
each of the four materials.

He recorded the number of weights needed for each material to break in the

table below.
Materials Number of weights added just before the material broke
A 4
B 9
C 6
D 2

Which of the matenials should he choose that would allow him to catch a fish

of about 40 kg?
(1) Bony
(2) Conly

(3) AandBonly
(49 CandDonly -

-

15
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18 The table below shows the state of four substances, A, B, C and D, at different

temperatures.
State of substance at
Substance 20°C 40°C 60°C
A solid - solid solid
B solid liquid Bquid
C solid solid liquid
D liquid liquid liquid

Which one of the following statements is comect?

(1)  The boiling point of Substance C is 60°C.
(2) Substance D has the lowest boiling point
(3)  The freezing point of Substance B is 60°C
(4)  Substance A has the highest freezing point.

19  Kelvin conducted an experiment using the set-up as shown below.

pump

150 cm®
of water

tap

. ,'Hetumedontheiaptodraln out 20 cm3of water. Next,heusedthepump :
to pump in 15 cm’ ofalrmtomesealedoontamer

What was the final volume of air in the sealed oontamer? o

—

(1) 50cm®
(2 65cm®
(3 70cm®
) 95cm’

16
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20  The diagram below shows the water cycle.

clouds l ‘ '

HithHH
HHHHHE
il
HHhHN
HHHHH

m‘

Which states of matter of water do A, B and C represent?

State of matter
: A B C
1) ‘ gas gas liquid
(2) solid solid liquid
(3) gas liquid liquid
4) liquid liquid gas

21 Felicia set up five bulbs, P, Q, R, S and T, in the circuit as shown below.

i
6 ®

®
B S
How many bulbs will remain lit when bulb Q fuses?
(1) - . : - . . - |
@)
4 4

! | o
CHS/Sc/PE/Prelim2/2014



22 Han Yu had three rods, A,b and C, made of different materials. He wanted
to test the electrical conductivity of the rods using an electrical circuit by
placing them at various positions as shown in the diagram below.

The table below shows his observations.

Bulbs B1 - B2 | B3 B4
Did the bulb light up? Yes No Yes Yes

| Which one of the following correctly shows the electrical conductivity of the

rods A, B and C?

A B C
1) Insulator - Conductor . Insulator
@ Conducior _ Conductor Insulator
(3) Conductor insulator Conductor
4 | Insulator _ Conductor ~ Conductor

18
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23 The circuit diagrams below show four circuits, P, Q, R and S. The batteries
and bulbs used are identical and are all working properly.

i il

&— _&—o—
Circuit P Circuit Q

$ : ﬂ B

Which of the following statements about the brightness of the bulbs is/are
correct? :

A
B
C

(1)
2
3
@

CHS/Sc/P6/Prelim2/2014

Each bulb in circuit P is as bright as the bulb in circuit S.
Each bulb in circuit P is as bright as the bulb in circuit R.
Each bulb in circuit S is as bright as the bulb in circuit Q.
B only
C only

B and C only
A,BandC

19



24 Tricia carried out an experiment to find out the magnetic strength of the three
magnets, P, Q and R, using the set-up as shown below.

Distance X

< N
el

m iron pin

magnet P

She slowly moved magnet P towards some iron pins until the magnet first
attracted the pins from a distance, X. She then repeated the procedure
twice and calculated the average distance The experiment was then
repeated with two other magnets, Q and R.

The results are shown in the table below.

Magnet Distance X’ (cm)
First Second Third Average
attempt attempt attempt
P 3.5 40 3.9 3.8
Q 1.2 1.5 1.8 1.5
R 24 2.2 26 2.4

Which one of the following shows the correct order of the magnetic
strength of the magnets, P, Q and R, from the strongest to the weakest?

(1) P,RQ
2 P,QR
3) QRP
4 RQP

ALUCICAMNE M enlimanMnaa



25 Agroup of children took a roller coaster ride.

2.
A
.

X
K

e

LK
)
N

A
AVAVAPL
S N\ N
'\ AN\ A

Which one of the following correctly identifies the forces that are present at

positions X, Y and Z?
X Y YA
&) Frictional force only Frictional and Gravitational force only
Gravitational forces

2) Frictional force only | Gravitational force only |  Frictional force only
3) Frictional and Gravitational force only Frictional and

- Gravitational forces Gravitational forces
4) ~ Frictional and- Frictional and Frictional and

Gravitational forces Gravitational forces Gravitational forces

CHSISr/PRIPrelim?2/2014




26 An astronaut in a rocket was travelling from the Earth to the Moon.
Which one of the following graphs correctly shows how his weight
changes as he travelled from the Earth to the Moon?

Mg

Weight of astronaut (uni

2

b
7

Distance from the Earth (units)

Weight of astronaut (units) -

3)

>N
7

Distance from the Earth (units)

j\'_Neight of astronaut (units)

@

~
”

N,
P

- Distance from the Earth (units)

-

Weight of astréihaut (unifé) :

- Distance from the Earth (units)
, _ 2
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27 Aluge is a small one-or-two-person sled on which one sleds facing up and
feet first.

The diagram below shows a luge athlete on a luge going down a slope.

Which one of the following statements is true about how gravitational force |
acting on the athlete changes while he sleds down the slope?

(1) The gravitational force acting on the athlete increaseé while he sleds
down the slope.

(2) The gravitational force acting on the athlete decreases while he
sleds down the slope.

(3) The gravitaﬁonéi force acting on the athlete remains the same while
he sleds down the slope.

(4) The gravitational force acting on the athlete first increases then
decreases while he sleds down the slope.

o3
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28  The experiment shown below is carried out in a dark room. Sheets A, B, C
and D are arranged in a straight line. When the candle is lighted, a bright
circular patch of light is seen on sheet C only

hole

lighted candle

Sheet A '
Sheet B Sheet C Sheet D

Which one of the following correctly describes the properties of the materials
that sheets A, B, C and D are made of?

Allows lightto | Does not allow light | Unable to tell
pass through .to pass through
1) B { - Cc Aand D
[¥3) B AandC D
3) Aand B D C
(4) Aand D C B
24
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29 The diagrams below show the process of how james plays a game of

gateball.

Which one of the following best shows the energy conversions when
james uses the stick to hit the ball?

(1) Kkinetic
energy
(stick)

(2) kinetic

energy
(stick)

(3) chemical

potential energy

(James)

(4) chemical

potential energy

(James)

CHS/Sc/P6/Prelim2/2014

-> kinetic > sound

energy energy
(ball) (ball)

->» Kinetic + sound
energy energy
(ball) (ball)

-> kinetic + kinetic + sound
energy energy energy
(stick) (ball) (ball)

-> kinetic - kinetic + sound + heat

energy energy  energy energy
(stick) (ball) (balf) (ball)

o5



'30  Alice, Bryan, Calvin and Davy took tums to release a marble from Point W
as shown in the diagram below. it rolled down the slope, moved along

the carpeted floor and stopped at Point Z
X Y
angle of
inclination 4—carpet flooring
- Z
'I'hefollowmg statements were-made by the four pupils.
Alice AtPomtsXandY the ball only has kinetic energy.
Bryan Theballhasthegreat&stamuntofgmwwhonalpobnhal
energy at Point W,
Calvin The ball would have rolled further if the experiment had been.
' | done on a marbled floor.- ‘
Davy The ball woukd have rolled faster if the angle of inclination had
~ been greater

(1) Alice and Bryan only

(2) Bryan and Calvinonly

(3)  Alice, Calvin and Davy only
(4)  Biyan, Calvin and Davy only

End of Booklot A

Fal B o7 PN o .7 o BER-EEN Y oV 2 ]



Bookiet B (40 marks)

For questions 31 to 44, write your answers mthls booklet.
Thenumberofmaﬂ&avaﬂablelsshomnbrackeis{ }attheendof@chqu&won
or part question. _ (40marks)

31 Melissa conducted an experiment with a flower on plant H as shown in the
diagram below.

A

“(a) Which parts of the flower would be involved when poliination octurs? 1]

(b) Whach part of the flower would develop into a fruit after fertilisation?
Labe!matpartoftheﬂowennﬂwedmgramaboveusmgmeiet&er F. [1]

(Go o fo the next page)

SCORE




Continue from Q31

(6) The diagram below shows the location of the young of plant H over a

period of six months

Parent plant
of plant H

Young plant
of plant H

") How does plant H disperse its fruits?

gl

. (ii)- ‘State one characteristic of the fruits ofpla,nt:Hf-that enabled it fo be

dispersed away from the parent plant by the-method mentioned in

(o)D)

1

' SCORE

(Go on to the next page)
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32 The diagram below shows the life cycle of a mosquito.

(a) How does laying many eggs each time help the mosquitoes in their
survival? 1]

(b) -Suggest’ah -advantage for the young and- me adult to ﬁve in different
- surroundings. . M

(c) Atwhlchstageofmehfecycle A,B CorD :sthemosqurtomost o
difficult to kili? Why? _ ‘ , - co My

~ (Go on o the next page)

SCORE




33 The diagram below shows a typical plant cell

(8) Which part of the cell, E, F, G o H, controls all the activities in the cell? [1]

 (b) State another function of the part mentioned in (a). Bl

(Go on o the next page)

4 SCORE




34 During a physical education lesson, Jessica remained seated for the first 10
minutes to listen to her teacher's instruction. She then played frisbee with

her friends for the next 15 minutes before resting immediately on a bench
for 5 minutes.

(a) Cohpletemegmphbelowtoshowhmeica’sbreaﬂﬁngrate

changed over the period of 30 minutes. 1]
= A
Lz '
c '
2 :
e '
© :
o :
£ :
E = 1
® :
o '
m -
| | I | | | S
i ! 1 1 i i >
0 S 10 15 20 25 30
Time (mih)

(b) Jessica’s pulse rate increased while playing frisbee with her friends.
Explain why this happened. [2}

(Goonto tha pext ‘pége)

SCORE
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35 The diagram below shows four different layers in a typical rainforest.

(a) How would the level of mtensnt_yof light and temperature in the 4
. rainforest change as you move upwards from the forest floor? 1]

(b) Itis observed that very little light reaches the forest floor in the

rainforest. _ _
- State one way how the plants found on the forest floor adapt.
themselves for survival. 1]
(Go on to the neixt page) .

6 | ScoRre




36 The diagram below shows the relationship.of organisms A to G in a food
web.

(a) Which organisms are both a prey and predator in the food web above? 2]

(b) Fungi and bacteria are decomposers.

In what way are decomposers important to the plant when organisms A
to G die? | ' i1

{Goonto the next page)

SCORE




37 Organism X which has long stinging tentacles attaches itself to the hard
shell of organism Y as shown in the diagram below.

(a) The long stinging tentacles of organism X dangie over orgamsm Y,
covering much ‘of the hard shell of orgamsm Y.

How does this benefit 'orgamsm Y? . (1]

(b) Organism X moves very littie on its own. However, it gets to be camed
to many places when organism Y moves around.

How does organism X benefit from this? B 11

(Go on to the next page)

. _
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38 'Evelyn set up an experiment as shown in the diagram below..

X

- forch bubble

—
L g

—

—

\

- — -funnel

water plant

Sheplawdadearﬁlmrmﬁontofmetomhandwunwdﬂierﬁmof
bubbles produced in an hour. The plant produced 21 bubbles in an hour.
She repeated the experiment by changing the.colour of the fitter. She .
recorded the results in the table below.

[ Type of fiter | Number of bubbles per hour
A N
15
0 .
A
19

m oOLOp

(a) What was Evelyn trying to find out from her experiment? [1]

(b) Identify the gas collected at X.

() Aftersomehme Evelynreahsedthatfewerbubbleswerepmduoedfor [1]'
all the filters. Give a reason for her observatton .

~ {(Go on to the next pége) '

9 SCORE




.39 The diagram below shows a set-up that was placed on-a fable top-in-a Toom
of surrounding temperature at 15°C.

(a) After five minutes, water droplets were formed on'the metal tray. o
Explain the observation. ' ' 2]

(b) When the set-up was placed in a room of surrounding 'tempefrature at
35°C, less water droplets were formed on the metal tray.
Explain why this w-

| (Go on to the next page)
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40  Lynn washed her dress and hung it on a clothes line as shown in the
diagram below.

After hanging her dress on a clothes line, Lynn we:ghed it every 15 minutes.
She recorded her results in the table’ be!ow : _

Time (min) Mass of dress (g)
o . 850
15 600
30 520
45 480
60 -420
75 380
90 350
105 . 320 -
120 320

(@) ' At the 105™ minute, the mass of her dress was 320g. Based on her
resultsabove,howdo&ssheknowthatherdresswasoomplewlydry
after the 105" minute? 1]

- (b) Lynn repeated her experiment the next day. She discovered that her

. -dress.dried faster this time round. Besides leaving the dress out to dry
" under a windy and sunny place, suggest one other way she could do to
drythedressmorequmkly , 1]

_(Go on o the next page)

A

'SCORE




41
the table below.

Samueltested a circuit card with a circuit tester. The results:are recorded in

Clips tested

Did the bulb light up7 |
AandB Yes
AandC .-No
AandD Yes
" BandC No
Band D Yes
CandD “ No

(a) Complete the circuit card below using only two lines to show how the. -

_ wires are connected based on the results recorded in the table above.

i}

A B,
I L J
D c

(b) Samuel set up another electrical circuit using two similar light bulbs
andtwobattenes Thetablebelowshowsthe mulisheobtamed

Switch P . Switch Q Numberofbulbsthatlltup
“closed closed 2

clésed ' open : 1

open closed * 2

open open 0

Based on the results above, draw a circuit diagram of the electrical

circuit that Samuel set up in the space below.

N

{Go on'io the nexi page)

~ ‘ SCORE |



42 Lionel wanted to conduct an experiment using a toy he made as shown in .
the diagram below. .

fing spring

'He placed the toy on the floor and pulled the ring back over a distance X’
with a ping pong ball inserted as shown in the diagram below.

spring pi;!gpongbaﬂ
Lo

B
—P

direction the ring
was pulled

-

Rl '3

distance ‘y’

When he released the ring, he measured the distance 'y’ travelled by the
. ping pong ball on the fioor. He recorded the data as shown in the table

below.
Distance X (cm) | Distance 'y’ (cm)
3 11
8 20
12 31
(a) Why did distance ‘y increase with increasing distance x? i1l

N

(b) Lionel's Sc:ence teacher suggested that he should repeat hIS
expenment afew more fimes. Why?

— . . —

(Go on fo the next page)

SCORE
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Continue from Q42

(c) Lionel conducted anomerexp'erimeht'usmgapmpqggbaumatms
totally filled with plasticine. Each time when he pulled‘the ring back
over the same distance:'x’ as the previous experiment, he observed
that the distance 'y’ measuredwasahnaysl&ssthanwhathemorded
prewously

‘Why was that s0? | )]

g -.(Gd:bn to the neixt page)

14 SCORE |




43 Janlcemmedommfoﬂowmgexpenmentusmgmeset-upbebw She

shonethetorchatmec:rcuiarcard
c:reu!armrdwﬁha
cross-shaped hole
white screen
torch ‘
ac:lin e :]

table

The diagram below shows the circular card that was used in her set-up.

(a) Draw clearly what she would see on the white screen in the space
provided below. 1

(b) What property of light is shown in this experiment? m

(c) If Janice were to move the circular card towards the torch what change

‘would she see in her observation on the wh:te screen? S
_;5 "~ (Goontothe next page) .
SCORE
3




44 Matthew conducted an experiment to compare the heat conduictivity of
‘materials, P, Q and R. He placed material P below the beaker of water
befomhmhngntasshownmﬂxedragmbelow Hethemeoo@edthemne
taken for the water to boil. :

== / beakerof100mlofwaterat30"c
material P

He repeated théexpeﬁment using materials, Q and R. The graph below
shows the results he collected. |

~
7

-
Q
T

30 ¥

Temper:iture of water (°C)

0 - >
; Time (min)

(a) Give a reason why the thickness of materials, P, Q and R, must be kept
the same. 1

(b) VWmuznwxummﬂﬂbahmumenan&m&mmmyannemme.l'”;,~.
materials, P, 0and R? M

(Go on to the next pagé)

~ SCORE




Continue from Q44

©

0]

Matthew wanted. to bring hot food and cold dmksfora pcemc He

wanted to keep the food hot and the drinks cold.

Which material(s) wouki be most suitable to make the containers?

Write your answer in the boxes below.

Material for container carrying hot
food :

drinks

Materfal for container carrying cold

Explain your answer.

End of Booklet B

—
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SCORE
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Booklet B
3 a A (stigma) and D (anther)
b label the ovary {F) in the diagram as shown:
A ‘- B
N (4
8
c 0 It disperse its fruits through water.
(i) It has fibrous husks.
32 a As some eggs may be eaten by predators, laying many eggs ensures that
some eggs may hatch and grow into aduilts

b Both the young and the aduit will not compete for the same type of food.

c D. The mosquito has developed wings and can fly while the other 3 stages are
spent in water.

33 a G (nucleus)

b It containg gonctic malzizls 15 be passed down to the next generation (determines

heredity). '
34 a (Note: Breathing rate will slow down to almost the breathing rate at rest.)
I o
| i
! AN
reathin l ' !
e | Py
{units} I ]
! b
! 1 1
! t 1
e
0 5 iy 15 20 25 30
Time {min}

b Her heart has to beat faster to pump blood faster to other parts of her body so that
more oxygen and more digested food can be supplied to provide her body with more
energy (via respiration) to support Jessica’'s more strenuous actions of playing
frisbee. '

35 a The intensity of light ana température increases as one moves upwards from the
forest floor. . ' -

b Their leaves have large surface area.

36 a -B,D,F,G - o

b They break down dead matter into simple substances such-as mineral salts or
nutrients which is used to help the plants grow well.

37 a.  The stinging tentacles help to protect organism Y by acting as a protective

~ mechanism that will sting predators of organism Y, deterring potential predators.
b X can obtain food easily as Y moves around.
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She was trying to find out if the colour of the filter affects the rate of photosynthesis.
Oxygen

The carbon dioxide in the water had almost been used up so rate of photosynthesis
decreases, thus fewer air bubbles were produced.

The boiling water gained heat and evaporated to form steam that would come into
contact with the cooler surface of the metal tray, lost heat and condensed on the
metal tray.

The {ray was not as cold as before therefore the temperature difference between the
water vapour and the tray decreased allowing lesser water vapour to condense on
the metal tray.

The mass of the dress remained constant at 320 g which would be the mass of the
dry dress as all the water must have completely evaporated off.

Put the dress at a place that is less humid.

b

—l

AI_.B ‘
P
D eC L~

Q

When distance ‘X’ increases, the spring will be compressed more, so there will be
more elastic spring force to push the ping pong ball across a greater distance 'y’
when released.

The experiment results will be more reliable.

The ping pong ball filled with plasticine is heavier. Thus, there was more elastic
spring force required to push it to the same distance 'y’ measured previously.

b Light straights in a straight line.
c The shadow will become bigger and more

faint/dimmer.

This ensures that it is a fair test in which all the variables are kept the same except
for the independent variable, materials used, that is investigated in this test. Hence
any difference in the changes in the temperature of water is due to the different
materials P, Qand R (independent variable) used and not the thickness of the
materials.

P is the best conductor of heat, followed by Q and R.

W | -
Material for container carrying hot food R
Material for container carrying cold drinks. | ‘R -
(i) When R was used, it took the IongéSt time for the temperature of the water to

rise hence R conducted heat from the Bunsen burner flame to the water the

- slowest. Thus, R is the poorest conducter of heat and can conduct heat from
the surroundings to the cold drinks the slowest and conduct heat from the hot
food to the surroundings the slowest.



